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passage carcfully and answer {h,

ven
Rca:l‘ :::ﬁi]"“ follow : (Q. No, 31 to 35)
ucs

The Prcvenlion of smallpox by meang of

accination was discovered by an English doctor
od gdward Jenner. One dn:l.' he was in 4
“"':Liqt-s shop, when a country gitl came in far
:}._-}i'irt;- In the course of their ‘ggltl\'g';i_gliun,
mallpox was mc_ntlonod and tht girl said to him -
f[ can't catch that disease for I've had cow-pox.”
Jenner was still a stucit;rml-ﬂ!i:]g_y medical
<chool, but the girl’s remark set him lhinking :
Could there be any truth in the belief that a person
who had cow-pox was safe against smallpox ?
For twenty years he patiently went on doing
experiments with a view to discovering a way of
reventing smallpox. At last he was quite sure that
people who had taken cow-pox could not catch
smallpox. He therefore said that people should be
given a mild form of cow-pox by means of
vaccination. So great m__g_ilis faith in his discovery
that he first vaccinated his own son.

31. Why did the girl come té]_];r;ncr according to

the passage ? P

(1) The girl came to Jenner because she had
smallpox. ot

(2) The girl came to Jenner with an idea to
cure smallpox. 77~

(3) The girl came to Jenner to look for an
assistant’s job.

(4) The girl came to Jenner to seek some
advice.

32, Why did Edward Jenner vaccinate his own
son first ?

(1) He did so because he had great faith in
his discovery and wanted to win the
confidence of people:s

(2) He wanted to prove that his son was @
miracle. 4 ¢

(3) He did so because he wanted to harm
his son. £ ¢t

(4) He had to do so because his son was
suffering from both cow-poX an
smallpox. A

VASHI; g

33

34.

35.

36.

37.

A2

GET IT ON
Google Play

According Lo the given Passage, lhe discove
of the smallpox vaccination can be attributeg
o:

observali . .
(1 g:;wrinwnla{il:: ﬁf‘ﬁ;ﬁ,ﬁ%'
(2) The good fortune of Edward Jenner's
son.
&) Disbelicf in God.
(1) The frequent complaints about rising

smallpox cascs in the chemist's shop. -

which of the following statements is false
about_Edward Jenner according to the
passage ?

(1) Hegave the first vaccination to his own
SO, &

Edward Jenner was a French doctor. »

(3) Hewas attending medical school when
he met the country girl.
(4) Heworkedon discovering a vaccine for

smallpox.

What should the people be given by means
of vaccination according to the passage ?

(1) A strong form of smallpox.
(2) A mild form of smallpox.

(3) A mild form of cow-pox. -
(4) A strongform of cow-pox. '

Fill in the blank with suitable modal provided
in the options below :

When he was™ a child he

accompany Tiis father on his morning walk
every Sunday.

(1) could

(2) oughtto
(3) wusedtoe
(4) needn’t £

Choose the correct sentence from the options
given below I~

(1) Jupiter is larger then any planct.
(2) Jupiter is largest planet.

(3) Jupiter is the largest planet.»

(4) Jupiter is a largest planet.

~ b
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41.

Choose the correct option from the sentences
given below

(1) The train will have departed before he
reaches the station,

(2)  The train would have departed before
he reached the station, -

(®)  The train will haye departed before he
will reach the station,

(4)  The train will haye departed before he
reach the station,

Choose the correct pa
the options to com
below :

If he

(1)  had taken, would have recover
(2)  took, would recover e

(3) had taken, will recover

(4) had__te_ike;r}; would have recovered

ir of verbs provided in
plete the sentence given

the medicine on time, he

Fill in the blanks in the following sentence
with the most sTitable pair of prepositions,

As you are“overweight you should abstain
~food a high fat

content.

(1) from, with .
(2) ofin

(3) by, with

(4) from, of

Fill in the blan_k in the given sentence with
the most appropriate article from the options

given below....,

We are _ " hour away from
Bangalore.

(1) o asticle (N/A)

2 a

B) an.

(4) the
VASHI/G
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Which of the following is thl': most suitabl,
meaning of the word “Feeble” ?

(1) someone who is brave. .

(2) someone who has strong feelings.«
(3) someone who is selfish.

(4) somcone whq is weak.

Fill in the blank with the most suitable
option : :

He __ " in this office for the last
twenty years.

(1) has worked

(2) has been working«

(3) is working

(4) have been working

Choose the wrongly spelt word from the
words given below :

(1) Conclusion
(2) Delusion » '
(3) Inclusion,
(4) Tusion

Identify the a-u:ljcctivc in the following
sentence by choosing the most appropriate
option :

The students of the senior school were given

the responsibility of maintaining discipline in
the school.

(1) senior.
(2) responsibility
(3) discipline’ -
(4) given

Choose the most égprogﬁate sentence from
the following options to change the given
sentence from Passive to Active Voice :

I'am helped by my friends.

(1) My friend is helped by me, «
(2) My friend helps me,

(3) My friends are helped by me. ¢
(4) My friends help me. v .
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50.

47

se the most suitable n_lgdal from the
provided below for the l'ollnwini-

Choo!
opll‘O ns
scnh’.'rlﬂ'-’ :

The g;-ound is slippery, watch your step log,

you fall.

(1)
@
@)
@)

might <
could
would -

should «

Choose the correct sentence from the options
given below : -—

)
@
®)
)

All my belongings are lost.

Mathematic involves lot of calculalion.(
She bought a pair of sock. »

Pay my regard tio_ ygur father,_k

From the following sentences choose the one
in which an adverb has been used :

)
(2
@)
(4)

All of them looked beautiful.

[ saw the birds.

They were flying.

Some of them were flying high.«

I~

Identify the correct sequence in which the
following words will.be found in 2

PR

dictionary : O

(1) Aerobics, Airbus, Altitude, Animal *
i ' -, Mz LR
)

®)

-

Animal, Aerobiqg,,;&‘]timde, Airbus £
Aerobics, Altitude, Animal, Airbus

51.

()  Airbus, Animal, Altitude, Aerobi¢>-
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Name the 6rgan of the human body t
roduces a fluid known as bile, y that

51) Pulmonary Artery -
2) Intestine
(3) Cerebellum
- (4) Liver
3 TR, 9 wgeh’ F &
] faan T =

“Beti Bachao, Beti Padhao” programme has
been implemented in the year :

(1) 2015+

(2y 2012 )

(3) 2013 L e

(4) 2014 y

fove e e T S &
(1) 5 3T

() 5wl

@ 5%

@ 5%- B

World Environment Day is celebrated on
(1) 5" August

) 50 January

(3) 5™ March

(4) 5 June
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Who among the I'ollo;ving was the firstever

badminton player from India to clinch an
Olympic medal ?

(1) Saina Nehwal -
(2) Parupalli Kashyap
(3) P.V.Sindhu
{4)  Chirag Shetty
(55, 893w st g o @ i £2
(1) Tt -
@ FEgElL
@) g o
(@) fedes L

Syed Mustaq Ali
which sport ?

(1) ' - Hockey

(2) Kabaddi
(3) Football
(4) Cricket

Tlr;:phy is associated with

YRd &1 999 Tfeel T4 SiF o ?
(1) fav @edt diega—

() W FIAAL

6 el g~

@ A

Who was the firsgt‘-.Womar{ Governor of
India ? S

(1) Vijay Laxmi Pandit

(2) Sucheta Kriplani

(3) Sarojini Naidu

(4)

56.

57,

Indira Gandhji
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{1) 31':'[@_( 29(3}

(2) TR 14(1)(b)

(3) SR 13(2)

@) TR 19(1)(@) -

Expression is
Freedom of Speech an_d -
n:-;ntinned in which Article of the Indian

Constitulion ?

(1) Article 29(3)
(2) Article 14(1)(b)
(3) Article 13(2)
(4) Article 19(1)(a)

1 W a2 T W= Sfs g 1 dEpta & 9w
H SRR T § ?

(1) agdag
(2) W

@) wmEge
@) =g

Which veda depu.:Es the information about the
most ancient vedic age culture ?

(1) Atharvaveda
(2) Samaveda
(3) Rigveda' "=
(4) Yajurveda .

W%Wﬁmﬁ‘w'm
SR ?

(1) weTeet TyRFue
(2 TR T 7w
(3) e TomRilt o «
(4) WER W,

‘Good Governance Day’ is observed to mark

the birthday of : -

1) SarvapalIi_Radhakrishnan
(2) Jawahar La] Nehry

(3) Atal Bihari Vajpayee
(4) Sardar Patel
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frg v e 3 Fenfge A R )
??
M

@

a9 wITRE

3ifam quE

(3) Frem e

(4) fcw g

Which Indian Wrestler has announced

his/her retirement after being disqualified
from the Paris Olympics, 2024 7

(1
(2)
(3)
@

Vinesh Phogat
Antim Panghal
Nisha Dahiya
Reetika Hooda
(61. O o197 F HaY A
) s <=

(2) ERamte

@) fwFse

(4) Fw

Krishna Thapa is related to :
(1)
2
()
(4)

Badminton
Boxing
Cricket
Wrestling

frffes ¥ @ g F) Tour F W@ E?

(1) SfrRmEl -

() T -

() FEL ¢y

(4) Ll . _._' .
Which of the following is capital of Cuba ?
(1) Ottawa
(2) Havana
(3) Quito
(4) Lima

'
P
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what is the chemical formyy
@) Nacl W of Water ?

(2) OZH
@ H,O*
(4) HO -

pefafEa 3 @ i ﬁ TR % 1 32
m Mo

@

@ M

@ e

which of the following is capital of Russia ?
) Madrid

) Paris .

(3) Minsk

@) Moscow

forga gt T 2024 =t faga-=g () o :
(1) e a8y wied

(2) Wi sy wlifes

(3) TR IR et

@) TARH IH ‘T:;F!Z-

Theme of the World Earth Day 2024 was :
(1) Planet vs Plastics

(2) Protect our Species

(3) Restore our Earth
(4) Invest in our Planet

MWWwﬁﬁm
2?

) =l .
@ wwe o .
@ TR -

4 'aqru" i v VJ_ '

glltad Bismillah-}(han is related to wh
musical Instrument £

(1) Flute

(2) Sarod

(3) Shehnat

(4) Veena

ich
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(@) foell Tw

Who invented Electricity ?
M
@
@)
)

Benjamin Franklin
Graham Bell .
Johan Phillipe Reis
Philo Taylor

68. YA 1 Yool G9R 39UE 911

g T8=R -Yeirs wamifaie (APPLE)
(3) I - o

(4) ¥ sfder fvm (MOM)

The first Indian Communication Satellite
was : Y

g

(1) APPLE (Ariane Passenger Payload
Experiment)

Rohini
Aryabhatta
MOM (Mars Orbiter Mission)

&)
@

@
@)
“)

frefafea § & Ra 1 TGE Y FEWME?
(1) wEEwR
(2 < e
(3) a@ M TR
(@) e e (o ),

Which of the fo]lowmg 1s National Anima]
of India ?

(1) Asian Elephant
(2) Red Panda

(3) Royal Bengal Tiger
(4) Blackbuck
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The subject of the study nf Macro Economicg

is based on which principle ¢ ?
(1) The principle of Investment

(2) The principle of Consumer

©)
*)

The principle of Producer
The principle of National Income

‘g@mﬁwm’mm%?
(1) R T,

(2) i G FHAH A *

(3) o= TR

(4) mwmévéﬁ‘

Whose futoblography is IMES
Freedom” ?

(1) Mahatma Gandhi ™~ -

(2) Maulana Abul Kalam Azad
(3) Rajendra Prasad

(4) Sardar Vallabh Bhai Patel

‘Tewatt 3w e’ fire fadt 2
(1) ToEE W

(2) dre-fe-Tmm i
(3) WA T Ve -

(4) T Lt

Who wrote the "stcovery of India” ?
(1) Salman Rushdie :

(2) Vasco-de-Gama - -

(3) Jawahar Lal Nehru
(4) Mahatma Gandhi
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What is the full form of GPS ?

1
@)
@)
)

M
@

Global Pets System

Global Posting System
Global Positioning System
Global Pearl Society

g wfaum 5 TS HA © 2
(1) =l T R

() TR T TTE

(3) ﬂmﬁeﬁm'_v

@) T R I -

Who is the. father of the Indian
Constitution 7. -

(1) Dr. Rajendra Prasad
(2) Jawahar Lal Nehru
(3) Mahatma Gandhi
(4) Dr. B.R. Ambedkar

FUFEA S-44 e (PMJDY) FA IR £t
w8 ot ? B

The Pradhan -'l;Iantri Jan Dhan Yojna
(PM]DY) was lagnched in:

(1) 2018 - |
(2) 2014+ "
@) 2012 7
() 2016
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@ ™ (ffe)

which is the fastest land animal in the
world ?

(1) Siberian Tiger

2
@)
4)

prfef 3 0 RA T U FE W 2
@ e

@ TR~

@ T .

(@) we-EEE A A

Which of the following is National Bird of
India ? - L

(1)

)
3)
)

Kangaroo
Chectah
Lion

Sparrow

Peacock

Swan

Red-Crowned Crane

maﬁﬁﬁﬁg{ﬁfﬁaﬁmmm%?

(1) 28 ARH

) 14 T O

(3) 10 TR

(4) 01 &=, -

When is the World Diabetes Day celebrated
every year ?

(1) 28 October

(2) 14 November

(3) 10 November

{4) 01 November
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(1) ¥ SR IV Find the LCM of 12xyz and 3xY.
(2) =0 uing (1) 24xyz 1,9
@ =luds, . (2) 4xyz 4
S Fm o 121y 1
() i Fham

My 12302

Who is known as the ‘Missile Man of India’ ?
(1) Homi Jahangir Bhabh: 4, ot 7ifd @ 3fk
() Tessy Thomag | 84. wwmwo fﬁj/m L

() Dr.A PJ. Abdul Kalam
(4)  Vergese Kurien 2rn It SiiEa T A -_'Iﬁj

, e
(1) 45 @/ g, -
. N - . e
80. WIW T aifta ) snfermfi w2 2) 35 fE/E WY s
1) T (3~ 375 fepit/H. "”-)Tgv - 237
. Ifo
@ T @ do s/ L
() Eer - A person covers a cerlain distance by car at
@ 3 aspeed of 50 km/h and comes back atasP?Ed
D of 30 km/h. Whatis hisaverage speed during
What is the official currency of United States his travel ?
f ori .
of America?. ... v (1) 45 km/h
(1 Tuva :
i () 35 km/h
(@) Euwo . 3) 375 km/}
(3) Dollar - - (4) 4olkmmh” ]
4 Yen - ) __/__'
81. WuW 10 SIS @i 1 H o G 2 B8R “__""125'__“"‘_“_ 9 HIT FEH1 e
What is the sum of first 10 prime numbers ? 48 =0 %.I h
M) 10T g 5 62 4, @719 27 (1) 163 E:[
@ 127 oo ST .. | @ a3
B 129 oIy 3-;; 29 ax 4P
@ 100 — 4z @) 8y3 d -

- > az Jur XY
S il 2 PN 8 - B
82, A 1=Iq¥ UM A i, fT6H 246A48 e,

Find the perimet :
§ & ot et _a s 18 em? perimeter of a square whose area is
Find the least value of A such that 6-digit 1) 16cm - > )
number 246A48 is divisible by 8. )
1 3 t @ aBan e
@ o0~ (3) 83 em
® 1 L yraxewn
@) 2 4) 163 em —
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§6. ) ) T@Tﬂ:l't? c}_ﬁ) 7fg 6m43 — 4609 = 190 @
Which one among the following, is the largest m T TN B 3 ' ﬁ?ﬁﬁgﬂ R

h

son 7
fraction ¢ If 6md3—46n9=1904, , 1.
n Tl%' o : qhouk: come in place of gy ICh of the following
» (ol O 3< - Lo i
1 - . (2) 3 : '_ YE kg "f“‘q
@ 3778 | @ ¢ . ——
4 ’ 5 - ¢
@) = - . £443
_ ? (3 91. qﬁ'ﬁwgm’fm:“U%T:“”*”’”y azoﬁié"
s % guH € @ x, y 1w v 29 -
If 50% of a number x is equal to the 20% of "
another number ¥, then x is what pe vy
N ? percent of L——
7. m & g 7H, foraed fa 2m+1 T 319 Y
wenE &, 7 ? (Faw g fawedi § ) (1) 35% MrH = yxy
h : . . (@) 30%
¢ smallest value of m, for which 2m+1is By 40% W ,L a
nota prime number, is (from the given options Y-
@) 50% J -

only) : aq €41 T

(1) 6 Coyx &Y -@ 6060 =
@ 3 92. —ap ﬂ%ﬁqﬁm%ﬁw%?
Jd3y 4 . 30°
@ S5 ot Which of the followmg ophon is equal to
' 60%°
-7
30 ¢ ( 30
@Vﬁ?ﬁ S 1 T THF SiHi & 411 Hi P I (31? - W Zw?a 2;39
Q

3\ afs 39% el 91 TeR W A §en 39 @) 110% s ELS

3 3 4T < h TN &, 2h A T g2 @) 60%
A two-digit number is P times the sum of its A 120% e e
digits.  If the number formed by S

interchanging the digits is h times the sumof | g3 T 10 F B EICECE] ¥ 37aTa (SERTEE)

the digits, then the value of 2his: . - ]
(1) 10- -P \b =2 = 2«f & I;‘EI : T _ @
(2 11-P no= 2 (1) 120 it ‘ —
3T 22-4P = "'(""ﬁl" =h (2) 200§ -
@ 22-28 -nlef) T i @ 100 &R
e @) o . —
89. 15x2y 3iX 5xy F1 HCF I Fifa | 3= Find the area ofasﬂ_‘_‘fi"ff_we
Find the HCF of 15x%y and 5xy.  ** =4k of radius 10 cm. ™~
Q) 3y . (1) 120 em? - ﬁ;“
_(2y—5xy Sh= to—p A2y 200 em?
@) 5y 13 = 4xP (3) 100 cm? Gaz O
@ 7=yl (4) 50 cm?
. 20 ey -

' 2o%I6


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

5%1

94, ﬁ?@ﬁgﬁ#é{ﬂﬁuﬁmmﬁ’?‘ms
T = F W ;e ?
5‘nnd355‘

. re 1
Two angles of Trlang]u measurc nﬂﬂle

What is the measure for the third
(1)
(2)
A3 8o°

@) 700

50°

60°

17

95. 5 I oqoha TN EmM?

_ 17
What is the reciprocal of 57

150

W 37

@)

w1

96. frefafea § | 19 5.93 x 10 F awar Tmr?

" Which of the fnllov{ﬁné is equal to 5,93 x 10 7

M '
(2) 0.593
3)

4y 59.3

VASHI/G

LI

95.3

50.93

14

GET IT ON
Google Play

oy, & é AoRH ST (TA) HEW (2) T Ffey
the given series find the missing NUmbg,

[2], 126

In
2‘ 6, '14, 301
1) 66
(2) 60

62
(4 o4

-qﬁ31+_11=8] @' ax'}'y-ém.qﬂ

Eckased o
£ 33+¥=81and 817~¥=38, find the value of

98.

x+y.
m 6
@ 3
NE
@ 5

3w3IX3 X3

3‘1

99, fy=foraa fu=il d @ A | v g%ﬁw%?

Which of the following [raction is equal to % ?
25 7y

35
25
30
26
30
30
25

M

)

©) Y

(
1

(4)

100. 2 fau 10 13w & gt (2) W an g o

Fin'd the missing number of the following
series.

3,57 [2],13,17 :
L 12 '
4y 11

9

4) 10

=00o-

n

Crammad with NKEN SAAnBar
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